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* abstract syntax
* semantic formalisms
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Q uestion /

_ How do infintely many
programs exist?
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¥ For all natural number n

n n(net)
Pk =

k=) 4.
C an you prove it?




Ve

——

/ is natural number
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Natural number is a set of elements
that can be checked by method |
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Natural number is a set of elements
that can be made by method | |
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sy nt ax semantics
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P rogramming language is the same
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Abstract S yntax

.+ 274 wer gy e abstract syntax
. Z2We WeL wy s the tool for

the speaker
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IS the tool for
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Abstract S yntax

— specifies how to

construct

sent ences

(programs)
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C oncrete S yntax

« tells how to see
sentences 53

e tells how to
re-construct the W
apstract syntax
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C oncrete Syntax tells you
how.
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Syntax for finding out the syntax structure
in a 1Hine program

o

[

g

s‘hrmjs

%Parsing

n

>

AAD {}

shudures

+
eq) 14243 = 1/\+
2/\3




Conwrete Sjn‘mx
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Absinct Syt

Just represent core structure.
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Semmﬂi (&

Once the syntax of a program is determined,
S emantics should be determined without

conf using
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inductive
semantic
def inition

Semartics  ( Proposchionall Logie  Fomula)

[E] = os belore
Ithwed = T
ifked = F
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Semankict (Hrdmh luak M_)
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